Supporting information

Olefin Preparation via Palladium-Catalyzed Oxidative De-Azotative and
De-Sulfitative Internal Cross-Coupling of Sulfonylhydrazones
Hongyu Tan™®  Toannis Houpis®* Renmao Liu® Youchu Wang® Zhilong Chen®*

# Department of Pharmaceutical Science and Technology, College of Chemistry and Biology, Donghua
University,Shanghai 201600, P.R.C.

® Janssen Pharmaceutica, API Development. Turnhoutseweg 30, 2340 Beerse, Belgium.

“STA Pharmaceuticals, 288 Fute Zhong rd, Shanghai 200131, P.R.C.

Email: yhoupis@its.jnj.com. zhlchen@dhu.edu.cn

A

Table of Contents

General Experimental detailS ...........ocvecvieiieiieiiiieeie st S2
General Procedure for Internal Cross-Coupling reaction of Sulfonylhydrazones................... S2
Experimental procedure and NMR data of synthesized compound...........ccceeeveeevervirvennennee. S3
RETETEICES ...ttt ettt ettt e S12
Copies of "THNMR and PCNMR ..........oviuooeeeeeeeeeeeeeeeeeeeee oo S13

S1



1. General Experimental details:

Pd (OAc),; Pd(0,CCF3),; PA(COD)Cly; Cl,Pd(CH3CN),; ‘Bu,PMeHBF4; DPPB;
K,COs; -BuOLi, -BuONa; #-BuOK; AgOAc; BQ; DCP; Bu,NI and BuNBr were
purchased from Aldrich. 'HNMR and “CNMR spectra were measured on a 400Hz
spectrometer with TMS as internal standard at room temperature. Chemical shifts (9)
are given in ppm relative to TMS; and the coupling constants (J) are given in Hz.
unless otherwise stated, all reaction was conducted under air. Column
chromatography was performed using silica gel (300-400 mesh). Hyrazone was

prepared following by a reported procedure’.

2. General Procedure for Internal Cross-Coupling reaction of

Sulfonylhydrazones:

A mixture of Pd(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,COs
(0.21g, 1.5 mmol), BuyNI (0.37 g, 1.0 mmol) and 7 (0.5 mmol, 0.144 g) in dimethyl
acetamide (1.5 mL) was heated to 100 °C in an atmosphere of air. The reaction was
stirred at 100 °C for 6 h until HPLC or TLC analysis indicated consumption of the
starting material. The reaction mixture was cooled to 25 °C and water (10 mL) was
added to the mixture. The mixture was extracted with ethyl acetate (30 mL) twice and
the organic layer was washed with brine (10 mL) and dried over Na,SOy, filtered and
concentrated to dryness. The residue was purified by a silica column to obtain the

various products.

S2



3. Experimental procedure and NMR data of synthesized compound :

1-methyl-4-(1-phenylvinyl)benzene (8) 2

A mixture of Pd(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BuyNI (0.37 g, 1.0 mmol) and 7 (0.5 mmol, 0.144 g) in dimethyl
acetamide (1.5mL) was heated to 100 °C in an atmosphere of air. The reaction was
stirred at 100 °C for 6 h until TLC analysis indicated consumption of the starting
material. The reaction mixture was cooled to 25°C and water (10 mL) was added to
the mixture. The mixture was extracted with ethyl acetate (30 mL) twice and the
organic layer was washed with brine (10 mL) and dried over Na,SOs, filtered and
concentrated to dryness. The residue was purified by a silica column (R¢ 0.5, PE/EA
100:1) to afford 8 (0.079 g, 82%) as a yellow oil 'H NMR (400 MHz,
CHLOROFORM-d) & ppm 2.42 (s, 3 H), 5.47 (d, J=10.54 Hz, 2 H), 7.19 (d, J=7.78
Hz, 2 H), 7.29 (d, J=8.03 Hz, 2 H), 7.33 - 7.42 (m, 5 H). °C NMR (100MHz,
CHLOROFORM-d) 8149.95, 141.73, 138.65, 137.53, 128.88, 128.32, 128.17, 128.14,
127.65, 113.64, 21.19.

1-methyl-4-(1-(4-phenoxyphenyl)vinyl)benzene (22):

SUCA®
A mixture of Pd(OAc); (11 mg, 0.05 mmol), dppb (43 mg,0.10 mmol), K,CO5 (0.21 g,
1.5 mmol), BuyNI (0.37 g, 1.0 mmol) and 4-methyl-N'-(1-(4-phenoxyphenyl)
ethylidene)benzenesulfonohydrazide (0.5 mmol, 0.190 g) in dimethyl acetamide
(1.5mL) was heated to 100 °C in an atmosphere of air. The reaction was stirred at 100

°C for 6 h until TLC analysis indicated consumption of the starting material. The

reaction mixture was cooled to 25 °C and water (10 mL) was added to the mixture.

S3



The mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was
washed with brine (10 mL) and dried over Na,SQ,, filtered and concentrated to
dryness. The residue was purified by a silica column (R¢ 0.6, PE/EA 100:1) to afford
22 (0.111 g, 78%) as a yellow solid. 'H NMR (400 MHz, CHLOROFORM-d) & ppm
2.29 (s, 3 H), 5.30 (s, 2 H), 6.88 (d, /=8.53 Hz, 2 H), 6.94 - 6.99 (m, 2 H), 7.08 (s, 3
H), 7.14 - 7.19 (m, 2 H), 7.20- 7.31 (m, 4 H). "C NMR (100 MHz,
CHLOROFORM-d): & 157.11, 157.01, 149.24, 138.68, 137.59, 136.69,
129.79,129.65, 128.91, 128.19, 123.39, 119.09, 118.33, 113.10, 21.19. HRMS calcd
for C21H190" [M+H] ": 287.1430, found: 287.1420. (New compound)

4-(1-(p-tolyl)vinyl)benzonitrile (23):

I l CN

A mixture of PA(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BuyNI (0.37 g, 1.0 mmol) and N'-(1-(4-cyanophenyl)ethylidene)
-4-methylbenzenesulfonohydrazide (0.5 mmol, 0.156 g) in dimethyl acetamide (1.5
mL) was heated to 100 °C in an atmosphere of air. The reaction was stirred at 100 °C
for 6 h until TLC analysis indicated consumption of the starting material. The reaction
mixture was cooled to 25 °C and water (10 mL) was added to the mixture. The
mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was
washed with brine (10 mL) and dried over Na,SQ,, filtered and concentrated to
dryness. The residue was purified by a silica column (R¢ 0.6, PE/EA 100:1) to afford
23 (0.090 g, 82%) as a yellow oil. "H NMR (400 MHz, CHLOROFORM-d) & ppm
2.31 (s, 3 H), 5.34 - 5.54 (m, 2 H), 7.10 (s, 4 H), 7.37 (d, J=7.78 Hz, 2 H), 7.55 (d,
J=7.78 Hz, 2 H). °C NMR (100 MHz, CHLOROFORM-d): & 147.58, 145.33, 137.17,
136.32, 131.02, 128.13, 127.86, 127.03, 117.89, 115.00, 110.26, 20.16.

HRMS caled for C16H14N" [M+H] ": 220.1121, found: 220.1127. (New compound)

S4



4,4'-(ethene-1,1-diyl)bis(methylbenzene) (24)3:

A mixture of PA(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BugNI (0.37 g, 1.0 mmol) and 4-methyl-N'-(1-(p-tolyl)ethylidene)
benzenesulfonohydrazide (0.5 mmol, 0.15 1g) in dimethyl acetamide (1.5 mL) was
heated to 100 °C in an atmosphere of air. The reaction was stirred at 100 °C for 6 h
until TLC analysis indicated consumption of the starting material. The reaction
mixture was cooled to 25 °C and water (10 mL) was added to the mixture. The
mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was
washed with brine (10 mL) and dried over Na,SQ,, filtered and concentrated to
dryness. The residue was purified by a silica column (R¢ 0.5, PE/EA 100:1) to afford
24 (0.088 g, 85%) as a colorless oil. '"H NMR (400 MHz, CHLOROFORM-d) & ppm
2.30 (s, 6 H), 5.31 (s, 2 H), 7.07 (d, /=7.78 Hz, 4 H), 7.16 (d, J/=8.03 Hz, 4 H).

C NMR (100 MHz, CHLOROFORM-d): § 149.77, 138.82, 137.43, 128.82, 128.18,
112.98, 21.17.

2-(1-(p-tolyl)vinyl)naphthalene (25)3:

A mixture of Pd(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BusNI (0.37 g, 1.0 mmol) and 4-methyl-N'-(1-(naphthalen-2-yl)

ethylidene)benzenesulfonohydrazide (0.5 mmol, 0.169 g) in dimethyl acetamide
(1.5 mL) was heated to 100 °C in an atmosphere of air. The reaction was stirred at 100
°C for 6 h until TLC analysis indicated consumption of the starting material. The
reaction mixture was cooled to 25 °C and water (10 mL) was added to the mixture.
The mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was

washed with brine (10 mL) and dried over Na,SQ,, filtered and concentrated to

S5



dryness. The residue was purified by a silica column (R¢ 0.5, PE/EA 100:1) to afford
25 (0.083 g, 68%) as a yellow oil. "H NMR (400 MHz, CHLOROFORM-d) & ppm
2.31 (s, 3 H), 5.46 (d, /=4.27 Hz, 2 H), 7.09 (d, J/=8.03 Hz, 2 H), 7.21 (d, J/=8.03 Hz,
2 H), 740 (d, J=3.01 Hz, 3 H), 7.71 (s, 4 H). "C NMR (100 MHz,
CHLOROFORM-d): 6 14991, 139.11, 138.64, 137.63, 133.31, 132.97, 128.95,
128.27, 128.18, 127.64, 127.60, 127.26, 126.51, 126.13, 125.97, 114.19, 21.21.

1-methoxy-4-(4-(1-(p-tolyl)vinyl)phenoxy)benzene (26):

saeves

A mixture of PA(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BusNI (0.37 g, 1.0 mmol) and N'-(1-(4-(4-methoxyphenoxy)
phenyl)ethylidene)-4-methylbenzenesulfonohydrazide (0.5 mmol, 0.205 g) in
dimethyl acetamide (1.5 mL) was heated to 100 °C in an atmosphere of air. The
reaction was stirred at 100 °C for 6 h until TLC analysis indicated consumption of the
starting material. The reaction mixture was cooled to 25 °C and water (1 OmL) was
added to the mixture. The mixture was extracted with ethyl acetate (30 mL) twice and
the organic layer was washed with brine (10 mL) and dried over Na,SOy, filtered and
concentrated to dryness. The residue was purified by a silica column (Rf 0.4, PE/EA
100:1) to afford 26 (0.112g, 71%) as a yellow solid. 'H NMR (400 MHz,
CHLOROFORM-d) & ppm 2.40 (s, 3 H), 3.84 (s, 3 H), 5.39 (s, 2 H), 6.92 (dd, J=8.78,
2.26 Hz, 4 H), 7.05 (d, /=9.03 Hz, 2 H), 7.18 (d, J/=7.78 Hz, 2 H), 7.24 - 7.34 (m, 4 H).
B3C NMR (100MHz, CHLOROFORM-d) 158.26, 156.01, 150.00, 149.25, 138.73,
137.53, 135.92, 129.53, 128.87, 128.17, 120.94, 117.05, 114.90, 112.86, 55.68, 21.18.
HRMS calcd for C5,H 0, [M+H] : 317.1536, found: 317.1532. (New compound)

S6



4-(p-tolyl)-1,2-dihydronaphthalene Q27

A mixture of Pd(OAc); (11 mg, 0.05 mmol), dppb(43 mg, 0.10 mmol), K,COs (0.21 g,
1.5 mmol), BusNI (0.37 g, 1.0 mmol) and N'-(3,4-dihydronaphthalen
-1(2H)-ylidene)-4-methylbenzenesulfonohydrazide (0.5 mmol, 0.157 g) in
dimethyl acetamide (1.5 mL) was heated to 100 °C in an atmosphere of air. The
reaction was stirred at 100 °C for 6 h until TLC analysis indicated consumption of the
starting material. The reaction mixture was cooled to 25 °C and water (10 mL) was
added to the mixture. The mixture was extracted with ethyl acetate (30 mL) twice and
the organic layer was washed with brine (10 mL) and dried over Na,SO, filtered and
concentrated to dryness. The residue was purified by a silica column (Rf 0.4, PE/EA
100:1) to afford 27 (0.086 g, 78%) as a yellow solid. 'H NMR (400 MHz,
CHLOROFORM-d) & ppm 2.31 (s, 5 H), 2.69 - 2.83 (m, 2 H), 5.96 - 6.03 (m, 1 H),
6.92 - 6.96 (m, 1 H), 7.12 (br. s., 5H), 7.17 (d, J/=7.28 Hz, 2 H). >C NMR(100MHz,
CHLOROFORM-d) 8138.68, 136.82, 135.80, 135.69, 134.20, 127.88, 127.61, 126.48,
126.19, 125.86, 125.13, 124.42, 27.30, 22.50, 20.16.

4,4'-(1-(p-tolyl)ethene-1,2-diyl)bis(methoxybenzene) (28):

Q™
l
o‘

|
A mixture of Pd(OAc); (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21

g, 1.5 mmol), BuyNI (0.37 g, 1.0 mmol) and N'-(1,2-bis(4-methoxyphenyl)
ethylidene)-4-methylbenzenesulfonohydrazide (0.5 mmol, 0.212 g) in dimethyl
acetamide (1.5 mL) was heated to 100 °C in an atmosphere of air. The reaction was

stirred at 100 °C for 6 h until TLC analysis indicated consumption of the starting

S7



material. The reaction mixture was cooled to 25°C and water (10 mL) was added to
the mixture. The mixture was extracted with ethyl acetate (30 mL) twice and the
organic layer was washed with brine (10 mL) and dried over Na,SO,, filtered and
concentrated to dryness. The residue was purified by a silica column (R 0.6, PE/EA
100:1) to afford 28 (0.115 g, 70%) as a yellow solid. 'H NMR (400 MHz,
CHLOROFORM-d) é ppm 2.29 (d, /=14.56 Hz, 3 H), 3.68 (d, J/=1.76 Hz, 3 H), 3.75
(d, J=12.55 Hz, 3 H), 6.60 (dd, J=8.66, 4.39 Hz, 2 H), 6.70 - 6.82 (m, 3 H), 6.85 -
6.93 (m, 2 H), 6.97 - 7.09 (m, 4 H), 7.11 - 7.18 (m, 2 H). °*C NMR (100 MHz,
CHLOROFORM-d): & 158.99, 158.80, 158.17, 158.11, 141.18, 140.18, 137.75,
137.00, 136.85, 136.56, 132.98, 131.60, 130.68, 130.60, 130.50, 130.49, 130.27,
129.38, 128.85, 128.60, 127.39, 126.56, 125.83, 114.04, 113.53, 113.39, 99.99, 55.31,
55.16,29.71, 21.33, 21.11. HRMS caled for Cy3H30," [M+H] ":331.1693, found:
331.1708. (New compound)

1-chloro-4-(1-phenylvinyl)benzene (29)5:

Cl l I

A mixture of Pd(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BuyNI (0.37 g, 1.0 mmol) and 4-chloro-N'-(1-phenylethylidene)

benzenesulfonohydrazide (0.5 mmol, 0.154 g) in dimethyl acetamide (1.5 mL) was
heated to 100 °C in an atmosphere of air. The reaction was stirred at 100 °C for 6 h
until TLC analysis indicated consumption of the starting material. The reaction
mixture was cooled to 25 °C and water (10 mL) was added to the mixture. The
mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was
washed with brine (10 mL) and dried over Na;SQ,, filtered and concentrated to
dryness. The residue was purified by a silica column (R¢ 0.5, PE/EA 100:1) to afford
29 (0.082 g, 77%) as a white solid. 'H NMR (400 MHz, CHLOROFORM-d) & ppm
5.36 - 5.43 (m, 2 H), 7.22 (d, J=6.02 Hz, 3 H), 7.26 (d, J=3.51 Hz, 6 H). °*C NMR
(100MHz, CHLOROFORM-d) & 147.98, 140.01, 138.94, 132.58, 128.54, 127.33,

S8



127.25,127.17, 126.91, 113.66.

1-isopropyl-4-(1-phenylvinyl)benzene (30)°:

A mixture of Pd(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BuyNI (0.37 g, 1.0 mmol) and
4-isopropyl-N'-(1-phenylethylidene)benzenesulfonohydrazide (0.5 mmol, 0.158 g)
in dimethyl acetamide (1.5 mL) was heated to 100 °C in an atmosphere of air. The
reaction was stirred at 100 °C for 6 h until TLC analysis indicated consumption of the
starting material. The reaction mixture was cooled to 25 °C and water (10 mL) was
added to the mixture. The mixture was extracted with ethyl acetate (30 mL) twice and
the organic layer was washed with brine (10 mL) and dried over Na,SO, filtered and
concentrated to dryness. The residue was purified by a silica column (Rf 0.5, PE/EA
100:1) to afford 30 (0.089 g, 80%) as a white solid. '"H NMR (400 MHz,
CHLOROFORM-d) 6 ppm 1.20 (d, J=7.03 Hz, 6H), 2.79 - 291 (m, 1 H), 5.35 (d,
J=16.81 Hz, 2 H), 7.08 - 7.14 (m, 2 H), 7.16 - 7.22 (m, 2 H), 7.22 - 7.32 (m, 5 H).

C NMR (100MHz, CHLOROFORM-d): §148.87, 147.46, 140.69, 137.84, 127.30,
127.12, 127.08, 126.59, 125.18, 112.66, 32.81, 22.95.

1-(tert-butyl)-4-(1-phenylvinyl)benzene (31) ’:

A mixture of PA(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BusNI (0.37 g, 1.0 mmol) and 4-(tert-butyl)- N'-(1-phenyl

ethylidene)benzenesulfonohydrazide (0.5 mmol, 0.165 g) in dimethyl acetamide (1.5
mL) was heated to 100 °C in an atmosphere of air. The reaction was stirred at 100 °C
for 6 h until TLC analysis indicated consumption of the starting material. The reaction

mixture was cooled to 25 °C and water (10 mL) was added to the mixture. The

S9



mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was
washed with brine (10 mL) and dried over Na,SQ,, filtered and concentrated to
dryness. The residue was purified by a silica column (R¢ 0.5, PE/EA 100:1) to afford
31 (0.098 g, 83%) as a white solid. 'H NMR (400 MHz,CHLOROFORM-d) & ppm
126 (s, 9 H), 528 - 543 (m, 2 H), 7.26 (br. s, 9 H). “C NMR
(100MHz,CHLOROFORM-d) 6149.71, 148.79, 140.67, 137.40, 127.32, 127.07,
126.84, 126.58, 124.02, 112.68, 33.53, 30.33.

1-nitro-4-(1-phenylvinyl)benzene (32) 3

O2N I I

A mixture of Pd (OAc), (11 mg,0.05 mmol), dppb (43 mg,0.10 mmol), K,CO; (0.21
g,1.5 mmol), BuyNI (0.37 g, 1.0 mmol) and 4-nitro-N'-(1-phenylethylidene)
benzenesulfonohydrazide (0.5 mmol, 0.160 g) in dimethyl acetamide (1.5 mL) was
heated to 100 °C in an atmosphere of air. The reaction was stirred at 100 °C for 16 h
until TLC analysis indicated consumption of the starting material. The reaction
mixture was cooled to 25 °C and water (10 mL) was added to the mixture. The
mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was
washed with brine (10 mL) and dried over Na,SQ,, filtered and concentrated to
dryness. The residue was purified by a silica column (R¢ 0.4 PE/EA 100:1) to afford
32 (0.018 g, 16%) as a white solid. 'H NMR (400 MHz, DMSO-d6) & ppm 5.70 (d,
J=3.26 Hz, 2 H), 7.26 - 7.33 (m, 2 H), 7.37 - 7.45 (m, 3 H), 7.56 (d, J=8.78 Hz, 2 H),
8.24 (d, J=8.53 Hz, 2 H). °C NMR (100MHz, DMSO-d6) & 147.95, 147.82, 147.35,
140.15, 129.52, 129.10, 128.79, 128.33, 124.14, 118.51.

Ethene-1,1-diyldibenzene (33) 8

S10



A mixture of PA(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BusNI (0.37 g, 1.0 mmol) and N'-(1-phenylethylidene)
benzenesulfonohydrazide (0.5 mmol, 0.137 g) in dimethyl acetamide (1.5 mL) was
heated to 100 °C in an atmosphere of air. The reaction was stirred at 100 °C for 6 h
until TLC analysis indicated consumption of the starting material. The reaction
mixture was cooled to 25 °C and water (10 mL) was added to the mixture. The
mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was
washed with brine (10 mL) and dried over Na,SQ,, filtered and concentrated to
dryness. The residue was purified by a silica column (R¢ 0.5, PE/EA 100:1) to afford
23 (0.071 g, 79%) as a yellow oil. 'H NMR (400 MHz, DMSO-d6) oppm 5.48 (s, 2
H), 7.24 - 7.41 (m, 10 H).">C NMR (100 MHz, DMSO-d6) & 149.67, 141.21, 128.84,
128.35, 128.30, 115.15.

1-methoxy-4-(1-phenylvinyl)benzene (34) 5

LT O

A mixture of PA(OAc), (11 mg, 0.05 mmol), dppb (43 mg, 0.10 mmol), K,CO; (0.21
g, 1.5 mmol), BusNI (0.37 g, 1.0 mmol) and 4-methoxy-N'-(1-phenyl
ethylidene)benzenesulfonohydrazide (0.5 mmol, 0.152 g) in dimethyl acetamide
(1.5mL) was heated to 100 °C in an atmosphere of air. The reaction was stirred at 100
°C for 3 h until TLC analysis indicated consumption of the starting material. The
reaction mixture was cooled to 25 °C and water (10 mL) was added to the mixture.
The mixture was extracted with ethyl acetate (30 mL) twice and the organic layer was
washed with brine (10 mL) and dried over Na,SOy, filtered and concentrated to
dryness. The residue was purified by a silica column (R¢ 0.5, PE/EA 100:1) to afford
34 (0.093 g, 89%) as a white solid. 'H NMR (400 MHz, CHLOROFORM-d) & ppm
3.76 (s, 3 H), 5.31 (d, /=16.31 Hz, 2 H), 6.80 (d, /=8.53 Hz, 2 H), 7.17 - 7.23 (m, 2

S11



H), 7.26 (s, 5 H). °C NMR (100MHz, CHLOROFORM-d) § 159.35, 149.53, 141.84,
134.01, 129.41, 128.34, 128.14, 127.67, 113.54, 112.98, 55.32.

4. References

Wu, P.-L.; Peng, S.-Y.; Magrath, J. Synthesis. 1996, 2, 249.

Xing, D.; Guan, B.; Cai, G.; Fang, Z.; Yang, L.; Shi, Z. Org. Lett. 2006; 8, 693.

Zou, Y.; Qin, L.; Ren, X.; Lu, Y.; Li, Y.; Zhou, J. Chem. - Eur. J. 2013, 19, 3504.

Rao, M. L. N. J.; Deepak, N.V.; Venkatesh, V. Eur. J. Org. Chem. 2009, 25,

4300.

5. Singh, F. V.; Milagre, H. M. S.; Eberlin, M. N.; Stefani, H. A. Tetrahedron Lett.
2009, 50, 2312.

6. M. Rabinovitz, I. Agranat, E. D. Bergmann. Is~. J. Chem. 1969, 7, 795.

7. Sun, C.-L.; Wang, Y.; Zhou, X.; Wu, Z.-H.; Li, B.-J.; Guan, B.-T.; Shi, Z.-J.
Chem. - Eur. J. 2010, 16, 5844.

8. Bhilare, S. V.; Darvatkar, N. B.; Deorukhkar, A. R.; Raut, D. G.; Trivedi, G. K.;

Salunkhe, M. M. Tetrahedron Lett. 2009, 50, 893.

bl ol

S12



5. Copies of 'HNMR and *CNMR

s K P

242

.E

¥ 4
548
545

L
-

=
474203192 200 285
H d ol =) 5]
(LN L REAES AR AR WARES RARSS AR LEASN LARLE LESLN MLLRY RASE RALRS RAn) RALRl {BARAR LA LR ARAS LULRA SRS LAARA RESE LLLRS ELRLI AESSS A R E R A LR R AR RORES R  |
B3 80 a5 50 75 7.0 8.5 60 55 50 45 40 35 30 25 20 15 1.0 05

"HNMR of 1-methyl-4-(1-phenylvinyl)benzene (8)
(400 MHz, CHLOROFORM-d)

§ 5 §8 EZ8F g - 8
i EEE BIE% g Z3E3 8
3 CEf =mmar g 358 g
§ F8: HHSE E RREEE =
I (! e | L

BCNMR of 1-methyl-4-(1-phenylvinyl)benzene (8)
(100 MHz, CHLOROFORM-d)

S13



2.78

1HNMR of l-methyl -4-(1- (4-phenoxyphenyl)vmyl)benzene (22)
(400 MHz,CHLOROFORM-d)
= A Oy
‘ = W ‘ | =

13CNMR ofl methyl -4- (1 (4-phen0xyphenyl)vmyl)benzene (22)

(100 MHz,CHLOROFORM-d)

S14



B3 38 € [
T 3

§:>;—G>—_ N
N\ 4

<

187187 3081 2.00 02

o = =
LAAARA IARES LA LA RALRS RALEARARA! RARAR LRSS LU RS ALLD Ly LA RS RAALE RALLNEREAS LLARS RARE) AR AL (IR MR L Ktap T T T
Ll an RA A0 T8 T (1 Ao AR an a5 4n AR an L 2n 15 tn

"HNMR of 4-(1-(p-tolyl)vinyl)benzonitrile (23)
(400 MHz,CHLOROFORM-d)

g 2% =888 28 R e ™
0 -0 orRo B S N =g w = 3
~ o o g pr 8 o nR88 i 2
25 SIEr EaRLLT =T = ERER =8
(i) @ WA T — | T
\\\ \ g
N 4
\
[
1
1
1 | ‘ I
(] I I
1
ol Ll
]

162 144 138 128 120 12 104 o8 2] 80 72 64 56 48 40

BCNMR of 4-(1-(p-tolyl)vinyl)benzonitrile (23)
(100 MHz,CHLOROFORM-d)

S15



cop® 2 8
el o
LT ET T
@
W
7N
i S
]
UI . LL L
Pl
2
473433 200 800
U U 1]
B e = SV e - LR L B AT

"HNMR of 4,4'-(ethene-1,1-diyl)bis(methylbenzene) (24)
(400 MHz,CHLOROFORM-d)

= 48 NS ] —— -

= zx Ses e ag88 =

2 25 S8 g ERRE 5
VTS i ELAs

o

168 160 152 144 138 128 120 12 104 88 &8 80 72 84 56 48 40 3z 24 18 8

BCNMR of4,4'-(ethene-1,1-diyl)bis(methylbenzene) (24)
(100 MHz,CHLOROFORM-d)

S16



)
—5.45

2.3

] e

L
&

"HNMR of 2-(1-(p-tolyl)vinyl)naphthalene (25)
(400 MHz,CHLOROFORM-d)
: g 3552 3
PoE i i
aw
_\;_\/_\\ \
il HUJ | L

3CNMR of 2-(1-(p-tolyl)vinyl)naphthalene (25)
(100 MHz,CHLOROFORM-d)

S17



SRERE 83845

B 3 g
TLRLT FLEEE ? i )
/0\1/ = J\r’ﬁ\
. o s ‘\\/\H\
1
1
1]
LT
4"31941e5391 200 a7 295
o d u 5] [5] U 4]
9" i Q‘U i 85 i E!U § '-'IE ! 'J'U i 5.3 ! ﬁ!(\ : 5‘5 i E-!D i 4‘5 i 4'-} ; 35 i SID i 2!5 i 2D ! 1!EI D!S
1
HNMR of 1-methoxy-4-(4-(1-(p-tolyl)vinyl)phenoxy)benzene (26)
(400 MHz,CHLOROFORM-d)
§2 g&  REd gab 3 382 2532 2 £
g8 2%  8&8 [ § b2d RRES 8 z
Il I~ S0 S [ bl
A0 Bt N s
| = o o | | =
| I
I
| I I I ‘ |
Ll L. |
ﬂl: “2 = 144 i ISE el |5 e 120 i H RS 134 L ”IHHS‘B“”W BD ‘I‘IHI?'!I“”HHI“H“HIEIEHH ”“4‘8”“'” 46”””” ””“H:’””“H\gum

13CNMR of 1-methoxy-4-(4-(1- (p-tolyl)vmyl)phenoxy)benzene (26)
(100 MHz,CHLOROFORM-d)

S18



234525104 1.00 210 520
o o 5] 5]

T T T
a5 oo 8BS BO 75 7o 65 60 55 50 45 40 35 30 25 20 15 10

"HNMR of 4-(p-tolyl)-1,2-dihydronaphthalene (27)
(400 MHz,CHLOROFORM-d)

—27.30
—22 406
—20.163

al gl

—0.002

152 144 138 128 120 112 104 8 = 80 Iz B4 58 48 40 2 24 18

BCNMR of 4-(p-tolyl)-1,2-dihydronaphthalene (27)
(100 MHz,CHLOROFORM-d)

S19



SREETITINELINCE ggeE 35
bl gl ne
MERRR T ESPeSY Es i
ﬁ
= |\j0\
ﬁ = 2
~o P
L
i Jk )
) o)
284 286 160112
4 d H
85 80 as ) 60 55 50 45 40 as a 25 20 15 10 05 a

"HNMR of 4,4'- -(1- (p-tolyl)ethene -1,2-diyl)bis(methoxybenzene) (28)
(400 MHz,CHLOROFORM-d)

oD

r56.313

FE5211

-55.160
+21.329
21.110

—28.714

188 180 152 144 138 128 120 12 104 25 88 80 72 64 56 48 40 32 24 L] 8

BCNMR of 4,4'- -(1-(p-tolyl)ethene-1,2-diyl)bis(methoxybenzene) (28)
(100 MHz,CHLOROFORM-d)

S20



P ]
ERGE T

1.48

~

8.403.77 1.90

H d d

T LR AL 8 R LR e A RS i MR AR AR SRR ZE RN 1 AL RS L ERS A AR
o5 a0 &5 80 75 70 a5 a0 55 50 45

'HNMR of 1-chloro-4-(1-phenylvinyl)benzene (29) - *
(400 MHz, CHLOROFORM-d)

2 2 czeow =
g & 2288
& = nRSh 2
= = gEEE =
| | —— |
/RS /a
m\’_\/—v/
<\/ ‘\>
I
1
|
1 !
1 1! ‘II
| 1] llJ | L
- —a— - . - " " - .
152 144 136 128 120 12 104 o8 -3 80 T2 B4 58 48 40 2 24 16 8 o

BCNMR of 1-chloro-4-(1-phenylvinyl)benzene (29)
(100 MHz, CHLOROFORM-d)

S21



iy

' ’_-1!5 ! QI.D i 8‘5 : E!EI ! Tlﬁglszlgﬁicj ﬁ!_ _!D I:lﬁ?l 50 4!5 4IEI 3'5 3'0 - y i Z!U i 1'5 I.D i EI
"HNMR ofl-isopropyl-4-(1-phenylvinyl)benzene (30)
(400 MHz,CHLOROFORM-d)
58 Eg  3nge g 53382 = 4 F
oo 5 s o %
NN
T R
o

180 152 144 138 128 120 112 104 o B8 B0 7z 64 56 48 40

BCNMR of 1-isopropyl-4-(1-phenylvinyl)benzene (30)
(100 MHz,CHLOROFORM-d)

S22



j& L

A
200 K
(=] =]
! 9!5 ! QI'_‘ ! BI5 ; S!EI 75 70 ’ 6!5 ! 6!-:1 ] 5!5 ! 5!D ! 4‘5 ! 4!0 ; 3!5 ! SID i 2!5 ! Z‘D ? If ! I!EI a
1 .
HNMR of 1-(tert-butyl)-4-(1-phenylvinyl)benzene (31)
(400 MHz,CHLOROFORM-d)
£k I SstEzuERs 2 5888 5 g =
U T TS T RREF s T
|
7
& —
7
Il | | i
H I '
B o R R

BCNMR of1-(tert-butyl)-4-(1-phenylvinyl)benzene (31)
(100 MHz, CHLOROFORM-d)

S23



8 28Y955R cR ] =
2 T LT o 7

JL‘ ; A JLJ\dM_

"HNMR of1-nitro-4-(1-phenylvinyl)benzene (32)
(400 MHz, DMSO-d6)
%

BCNMR of 1-nitro-4-(1-phenylvinyl)benzene (32)
(100 MHz, DMSO-d6)

S24



|
_J{ e

—5.48

lJLI—A‘

Water

J

5.603.34
[

2.00
o

R e R LR B B ) A B Rl
o5 20 85 80 75 70

"HNMR of ethene-1,1-diyldibenzene

149,670
141.212
128,83
128,200

||

—115.146

T
6.5

T
6.0

55

5.0

T
45

40

T
35

T
30

T
5

(33) (400 MHz, DMSO-d6)

188 160 152 144 136 128 120

BCNMR of ethene-1,1-diyldibenzene (33) (100 MHz, DMSO-d6)

104

o8

&g

S25

a0

72

84

56

48

40



snoo s P
Efee e e
A 3 b
PUNPEN

{éj

L e A P L A e ERRA DU T T T T T T T LIARAS RALLERALLALARES SRARARARES RARA) RARL RARSA LARAI
a5 a0 85 a0 75 70 85 80 55 5.0 45 20 35 30 25 20 15 10 5

"HNMR of 1-methoxy-4-(1-phenylvinyl)benzene (34)
(400 MHz, CHLOROFORM-d)

® 5 = pre | 0own T o
3 & B G BA3E =
a2 =3 = = EEk® a
[ B R
o
e N
L
]
! | |
" ‘ ‘ o " W 5 —
176 188 180 152 144 136 128 120 112 104 o8 -] a0 T2 a4 56 48 40 a2 24 10

BCNMR of 1-methoxy-4-(1-phenylvinyl)benzene (34)
(100 MHz, CHLOROFORM-d)

S26



